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EQUATIONS AND INEQUALITIES (EI)

Date: [O] gl é7.Solw.nng Equations Review

1)x+4=19 Checls =
o X+d=\q  oriqaed
e ]5. 5+d=(9 Subskhie
1= Eaal Ca,\m\aj‘i
+ Hre (o
o Goal . X2 - Kgigm
£3 |+ Y
(2 T10y 2=2v
3)-2x £ 20
X
4)"%3(4Y7) Z = -1




Woiis
-3%x>9=-15
=Bl g=r=
-
T
7% - 87>
20 - °
10 . ®
5 __gr_ 5



Date: [O!‘ngbay 2 Solving Inequalities
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Date: Day 3 Graphing
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Solve the inequality and graph its solution.
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7) -3x+8<17 <
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Date: Day 4 Vocabulary/Combine Like Terms

What is a variable?

What is a polynomial?

What is a monomial?

What is a binomial?

What is a trinomial?

What is a term?

What are "like terms"?

What does it mean to combine “like terms”?



Circle the like terms: 8x -9x 10x?

Circle the like terms: 8a%b 11ab? -a%b

List all the terms in the expression:

1) 8ax +4ab-6ac-d+7

2) 2x + 6

3) 19 - 5x + 18 - 4x

Combine like terms.
4) 3x +5x + Bx + 9x
5) 9x - 2x + 7x - 4x
6) 1 x+7-8x-9x+2+3
7) 4a+6b-7c-4a-7b + 8¢
8) 9Ix + 9x% - 24x? + Tx
9) 8x? - x?

10) r+s-t+t+t+r—2s—2r+s—t
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Date: lD “.D\ l? Day 5 Solving Equations by Combining Like

Terms First

Solve and check by combining like terms first.
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Date: I[J\LL!\:{ Day 6 Solving Inequalities by Combining
Like Terms

Solve for x and -gmph the solufiorr\
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Date: \ -Day 8-Solving Equations with Variables on

Both Sides

Solve for x and check.
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Date: Day 9 Solving Inequalities with Variables on

Both Sides

Solve for the variable and graph the solution on a number
line.
1) 10x + 13 > 5x + 33

2) 19x - 8 < 10x + 91

17



3)-11a+4 <16 - 7a

4)3b-8>5b+16
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Date: V \ Day 10  Solving Equations using the

Distributive Propesrty
Solve for x and check. [
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Date: ‘D\ Day 11 Solving Inequalities Using the
Distributive Property

Solve é]\:e mequah‘ry and graph the solution.
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3) 4(x+3) - 7(x+9) < -12




